9 kaacc . 'oroBuMcest Kk k/p ""Cucrembl ypaBHeHHd. Y paBHeHHS BbICIIMX CTeleHel" .

Pemute cucreMy ypaBHEHUM:
X—=1

) y+2 ;
(x=1)* +(y+2)° =45

+X+Yy=5
6{xy y

C+ylaxy=7

Pemure ypaBHeHus

a) X' —x—10x* +2x+4=0;

6)(x* —4x+1f —2(x—2) =81;

B) (3x +12)- (3x +3)(3x + 8)3x + 2) = 36x°;
) 7x-(7x=1)-(7x=2)-(7x-3)=15;

Pemmre rpadudecku cucreMy ypaBHEHHUI:
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x=3y+2=(x+y)
B 5
(x+y) +(x=3y) =8
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X_y_>
Ny Xx 6
x2—y2=5

(x+3)\y+2)
n) y+1 ;
y?—-2x-y=8
y+10x=12,

€)< 2x LY

=-2
y 2%

220 _40;
1) X +(X_3)2 ;

K) X +6X*+5x-12=0;
3) 4 (2x —1) +2x(4x* —1)=2(2x+1) .





